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General Instructions: 

i. This Question paper is divided into six sections-Section A, B, C, D, E, F 

ii. Section-A: Question no. 1 to 4 are MCQ type questions of 1 mark each. 

iii. Section-B: Question no. 5 and 6 are Very short answer type questions of 2 marks each. 

iv. Section-C: Question no. 7 to 9are short answer type question, carrying 3 marks each. 

v. Section-D: Question no. 10 and 11 long answer type questions, carrying 5 marks each.  

vi. Section-E: Question no. 12 and 13 are source base questions, carrying 4 marks each. 

vii. Section-F: Question no. 14 and 15 are map-based questions carrying 2 and 3 marks accordingly. 

 

 SECTION-A  

1. Which is the following being not a part of Nazi ideology? (1) 

 A)  Poles are a desirable section of society.  

 B) Jews were the most inferior and undesirable section of society.  

 C) Germans are the descendant of pure Aryan race.  

 D) Society should be ruled by Nordic Aryans.  

   

2. The President of India is elected by _____________________. (1) 

 A)  Direct election by citizen. B)  Prime Minister and Council Ministers  

 C)  Indirect election by the electoral 

college 

D) Indirect election by the Governor.  

   

3. The Dibang and the Lohit are the tributaries of the river_______________. (1) 

 A) Mahanadi          B)  Kaveri   C) Krishna     D) Brahmaputra  

   

4. In which of the following states, land reform measures have helped in reducing poverty? (1) 

 A)  Tamil Nadu B) Kerala  

C)  West Bengal D)  Punjab 

   

 SECTION-B  

5. a) ‘The media glorified trench life’. What was the actual truth about trench life? 

b) Mention the main reason for Nazi hatred for Jews. 

(2) 

   

6. How are east flowing rivers of Peninsular plateau different from west flowing rivers of 

Peninsular plateau? Write any four points. 

(2) 

   

 SECTION-C  

7. ‘Despite less calorie requirements, the higher amount for urban areas has been fixed for 

determining poverty line.’ 

 

 (a) In the light of the above statement give reason for fixing higher poverty line for urban 

areas as compared to rural areas. 

(1) 

 (b) State the accepted average calorie requirement and monetary expenditure per capita, (2) 
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needed for buying these calorie requirements, fixed by the Indian government to 

determine poverty line in rural and urban areas. 

   

8. ‘In poor families all suffer, but some suffer more than others.’ Comment. (3) 

   

9. Read the description about Targeted Anti-Poverty Programmes and answer the questions 

that follow: 

 

 ‘Under this Yozana, additional central assistance is given to states for basic services such as 

primary health, primary education, rural shelter, rural drinking water and rural 

electrification.’ 

(a) Identify the Yozana and mention the year in which it was launched. 

(1.5) 

   

 ‘This act was launched in 2005 and it aims to provide wage employment to every household 

to ensure livelihood security in rural areas. It also aimed at sustainable development to 

address the cause of draught, deforestation and soil erosion.’ 

(b) Identify the act. How many days of guaranteed employment does this act aim to 

provide? 

(1.5) 

   

 SECTION-D  

10. a)  Define the term Genocidal War. 

b)  Mention any two methods adopted for extermination of Jews. 

c) ‘The Weimar Constitution had some inherent defects’ Explain. 

(5) 

   

11. a)  Name the Fundamental Right under which each of the following right falls: 

1. Freedom to propagate One’s religion, 2. Right to life 

b)  Write any three different basic responsibilities of the three organs of Indian democratic 

Government towards citizen. 

(5) 

   

 SECTION-E  

12. Read the given passage and answer the following questions:  

Every citizen, from the Prime Minister to a small farmer in a remote village, is subjected to 

the same laws. No person can legally claim any special treatment or privilege just because 

he or she happens to be an important person. For example, a few years ago a former Prime 

Minister of the country faced a court case on charges of cheating. The court finally declared 

that he was not guilty. But as long as the case continued, he had to go to the court, give 

evidence and file papers, just like any other citizen 

(4) 

 12.1. ___________ means that no person is above the law  

 A) Fundamental Rights B)  Right to Equality  

 C) Rule of Law D) Democratic Rights  

   

 12.2. Indian Constitution made __________a punishable offence.  

 A)  Reservation B) Equality C) Untouchability D) Discrimination  

   

 12.3. The Government of India has provided reservation for _________.  

 A) Scheduled 

Caste 

B)  Scheduled Tribe C) Backward Classes D)  All of the above  
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 12.4. What is/are the main features of ‘Right to Equality’?  

 1.  All citizens get equal opportunities in the government jobs.  

 2.  Government can discriminate on the basis of caste, colour, religion.  

 3.  Equality before law or the equal protection of law.  

 Options:  

 A) 1 Only B) 1 and 3 C)  3 Only D) 1,2,3  

   

13. Read the given passage and answer the following questions:  

                                                 The Ganga River system (4) 

 The Ganga River emerges from the mountains on to the plains at Haridwar. The Ganga is 

joined by many tributaries from the Himalayas, a few of them being major rivers such as the 

Yamuna, the Ghaghara, the Gandak and the kosi. They are the rivers, which flood parts of 

the Northern plains every year, causing widespread damage to life and property but 

enriching the soil for the extensive agricultural land. Enlarged with the waters from its right 

and left bank tributaries, the Ganga flows eastwards till Farakka in West Bengal. 

 

 

 13.1. When was the Ganga Action Plan Phase-1 launched?  

 A) 1985        B) 1986       C) 1975        D) 1984  

   

 13.2. What is the total length of the river Ganga?   

 A) 2400 Km         B) 2450 Km       C) 2500 Km        D) 2600 Km  

   

 13.3. Which place is located on water divide of River Ganga?  

 A) Ludhiana B) Ambala C) Chandigarh D) Amritsar  

   

 13.4. Bhagirathi river joined by the Alaknanda River at _______________  

 A) Devaprayag B) Vishnuprayag C) Haridwar D)  Rishikesh  

   

 SECTION-F  

14. A. On the given-out line map of World, locate and label the following: 

1. Germany,                                                          2. Italy 

(2) 

   

14.B. On the given outline map of India, locate and label the following: 

    1. River Mahanadi 

    2. Sambhar Salt Lake 

    3.Nagarjunasagar 

 

(3) 

 


